Name: KP{& UID:
1. A 12. U.a::l')
2. H 3 _ (7 “)
3 G 14, (:h -1
4. ¢ 15. (—4,—%)
b. (13,13
9. A ("/415 l) | ( : )
12 -b
17. ('? ‘*)
( I 0 ) \ Vy
6 ol 18. 9% = 1
z 3
7 (O ‘EF) 19. ‘T% I
a0 K
| O)
8 (O ~ 2] (0/"0) - $bf
9 (5,5\ 99 ES,-D")
10 (03:") 23, R' %Oz}
i1 ((941‘3 3> 24 [°/°°>
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Equations in One Variable

Find the implied domain of the following equations.

20. log, Pz +2) =1-2?
——— e —

-

(Olw)"i‘% 0
2. VIsr—3=22+ 2
L ————— %

ISx-3>20

[Sx2 3
T 26

23. log,(2?) +5=2"+ 4z +1
o

iieﬁ \1>o, xﬁa}

[5 /”3

~*>0 ar (onﬁmx*o-

R-%e]

X 20 )
{0/”
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The remaining questions are worth 2 points. Solve the equations in the space provided below
each question.

25. e +2T-3=0

|+ (ex)1+?_ex"3= O Hun Qo?"’rau 4 -4(-3) = Ha)

ex:: —'2.+1\_\;‘ oy X —'Z'm
e = —
y
X, —L
CI= g oR. e - =z
2
x_ 2 whidh Wae no Solutions
- becauts €™ i¢ wever V\fﬂaﬁve.
p &
e = | . '
EO X=0 jgHa ow\ﬁ soluion ]
X =0

26. (x2+2z+1)2=4

R 2a4\ = 2 bR 74 2=t= -2

1*+2x-1=0 X2 42x+3= 0
7 bi-4ac-= 4-4(s)
S L M da Loi) .
SRS, T - -
P T So x242x+3=0
e e has o sohEHoNS .
2418 -2-{g

Se A= —5 o A=z
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27. logz(1 —z%)? =1

1033 (t-x*)= | bR loﬂg (e~

1 2.
|-*=3 \-2"= 3
2. 1
-2 * 3
12:‘_ "2 12:_ %_
2 2
So ~= ‘\j—g oy 2= "N%T
J
28. ¢**~5 = —3
No . 1‘1—5 e
6o\u-\*\ov\6 ‘ococw.a.t e Cannot \0& Wﬁwhve'
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Math 1060 Practice Exam 1 February 20, 2015

Answer all questions below. All questions are worth 1 point except where
otherwise noted. No cell phones, calculators, or notes are allowed during the
exam. If you are stuck on a problem, skip it and come back to it later.

Name: K&é;

UID:

Write your answers to #1-24 on the answer sheet provided.

Planar Transformations

For #1-4 match each planar transformation with its geometric interpretation.

—

(52) A

(W]
N
o =
— o
——’
=

A.) Scale z-coordinate by 3, y-coordinate
by 2.

B.) Scale z-coordinate by 2, y-coordinate
by 3.
C.) Flip over z-axis.

D.) Flip over y-axis.

E.) Flip over y = z line.

F.) Moves points right 2, up 3.
G.) Moves points right £, up 2.
H.) Does nothing.

For #b5-8, give the inverse of the planar transformation.

5 Ay,

arcn)
(30 ()

2 0
-
(0%



Matrices and Vectors
For #9-16, find the resulting vector and write it as a row vector.
9. (6,7)+(-1,-2)

= (5,8)
(2)-(3)- (;;) (;ﬂ

3
11. 1T(2, ;)

10.

=

._.
o
2>
=
=2
=
ol
11}
-
&
-\
“~

s (DG (D)
(TG (G
= (6 A)(F)- ()

«(30(3) - (3mR)- (%)
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. . 3 4 _1 2
17. Find the product: ( 1 =9 ) ( 4 #=3 )

-2 Fll 6-l2

i
1

(13 ~(
I-§  -atb R

—
oo
P
Q

=

=)

=

=+

]
-
=
]
o
e
=
o

-

3
=.
=

o
=
e
(=9

0

“*
/‘—‘-\
calen N
— |
cal on
\-—/

19. (2 points) Find the inverse of ( _32 111 )

det (,gz T) 3= (4)(-2) = 343=1|

4
XA "*) (T‘LT‘—
(,,,_‘)'n 2z 3/ \2 3
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